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GROUP 1-TEST 2

1. How many elements occur in nature and prepared in laboratory by artificial methods?

@gleueng seuL ML L @uIMens (L0) Q&FWMENsS &esNIDMIGENT 6155606312

a.94, 28 b. 92, 28 c. 91,26 d. 92, 26

2. Which is in liquid state at room temperature?
I. Cesium I1. Bromine [11. Mercury IV. Radon
oM GeuliLbleneouned BILOOTE 2 6168 618)I?
l. &&wib . yGpmbiesr . Qi IV. gmmest
a. land Il b. Il and | c. lland 11 d. IV and Il

3. - lasers can cut through material that even diamond tipped blades will not cut?
a. Radon b. Krypton c. Xenon d. Germanium

OEUTHEHET (LTINS QBTEn(h Fal QeuUl L (WPIgUITg QUTHemeT Jal 2 [flul 6uTU|euTesT

Covgennsd Qameir(h GleuL_L60MLD?
a. [mLmedr b. &fluLmesr C. Qaevrmedr d. Q&jwmefuld

4. Choose wrong one?

a. Boron b. Silicon c. Germanium d. Copper

QUITBHSTENS &6oTLN&?

a. Gumymedr b. &eSsmer c. Qafwmefwb d. smiuj
5. “Incapability of being cut” meaning for atom taken from ------ language?
a. Latin b. Arabic c. Greek d. Hebrew
‘2 ML&S (LPIQUITHEME 6T6oTM)| CLIT[H6T H(HLD “SUEY 61601 QFT6L 6THG QOMAUNCON([HHS)
QuUDUUL L GI?
a. @evgEeir b. =iCGyNs C. &CI&sLD d. Fl@m

6. Hydrogen and Oxygen mass ratio is by?

QML N6 (D) W &HFReNesT Hlemm 61hHe aNEGHHHL Q([HSHGLD?

a. 1:2 b. 8:1 c.2:1 d. 1:8

7. J.J. Thomson discovered which of them?
I. Proton I1. Electron I11. Isotopes IV. Isobars
Cn.Cu.HMDEFET 6T6nG 61608 &6l MIhHSHTT?
I. yGpmLLmedr Il. eTeu&L jmedt . gCsrGLmiysst V. gCGsmumjsHen
a. lland IV b. Il and 11 c. il only d. Il only
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Hydrogen and Oxygen volume ratio is by?
EMUDL_ W6 (D) SH,&6erOlRetiledr SHeslene| 61he NHHSHHL Q(H&HEGLD?
a. 8:1 b. 1:2 c.1:8 d.2:1

In which year first in India find coal used?
AhHWTONED (UPGHEST (DGHEOIEL 6T WG Hev&HHH SHevorL MILILILILL GI?

a. 1775 b. 1770 c. 1773 d. 1774

Coal would have higher ------ content if it was formed in swamps covered by sea water
a. Hydrogen b. Nitrogen c. Sulphur d. Helium

&gl Heomiseiled L &G HevssHluled 9i8s sleney AHSGLD

a. emamL Jmer b. emmpL et C. geoLly d. enfedlwid

1A is equal to -------- ?

1A° 6T60TLIG) ?

a. 10 b.10°® c. 10 d. 10

In which year petroleum discovered is Pennsylvania ------- ?

QuesNHeLGeuesLIMT LEGSHUNL QUL GTEOILILD SevorL MILILILIL L. gy 6501(h?

a. 1959 b. 1958 c. 1857 d. 1859
Which is called as “Black Gold?

a. Coal b. Petrol c. Carbon d. Lead
“GHUL SHRISLD 660N SMLDSHSLIL(HEUS ?

a. Mevssif b. QuL Grymed C. &mijuedr d. QevL_
In which year in India first oil was struck in Assam?

AnHwmaNed (Sieveromd) QUL GHTEOILD 6ThE 6HurH SHevor MULILILIL L &]?
a. 1868 b. 1967 c. 1968 d. 1867
In which year SI system of units introduced?

Sl si0E Wem NS QFWIbLL L g 66(H'?

a. 1981 b. 1972 c. 1982 d. 1971
Upto which year, Radian and w used as sub units?

SHNMECHMEI(LLD, SHl6vuind CoHmewor(LHLD LR UM FIEM6EUT SHETQSETTSH @) (1HHS 602
a. 1895 b. 1896 c. 1996 d. 1995
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Intensity of sound is measured in a unit called ------- ?

a. Diaptre b. Decibel c. Ricter d. Astronomical unit
@e0lenll STl LMSHISHE VG ?

a. LwimiLiy b. QL&ued c. N&Ly d. eumesflwed SievE
1 meter = ------ ?

a. 1 decameter b. 10 decimeter c. 10 decameter d. 10 hectometer

18 eT6dTLIZ) ?

a.1l Quam 1§ b.10 QL& 18 c.10 Qu&m S d. 10 Qam 8
Choose wrong one?

a. Pound weight b. Dyne

c. Kilogram weight d. Pascal

QUITBHSTENG &6uTLN&?

a. ueyetil eNleng b. emLetr
C. HGeomANMD eNena d. umervaeb
Who was called as “Child prodigy”?

a. Galileo b. Newton ¢. J.J. Thomson d. Pascal

GLHMS BTN 6T HDSSLILIL LU WIT]?
a. &eNenGwir b. B L 66T C. Cn.Cy.ambagstt  d. LTS

Which of the following statement are true regarding neutrophil?
I. Neutrophil is a granulocyte

I1. Neutrophil is a phagocytic clotting

I11. Neutrophil is a phagocytic cell

IV. Neutrophi has anti-histamine properties

Spseaueummien Byl Comilemr upmMiwl Fflwire samMisnerd CHIHOS6H
l. Dul Gomaem e HMIGIHeT QF6d

Il Bl CpmAer Qrss 2 mmHmeLs QASTLRE meusHmG

1. Byl Comilen e QF6d (LP(PMIG HETEMOUIEML LI QF6D

V. By Cpmller eMeVL DS 6THNTET H6iTenn QST g

a. Il only b. IV only c. lland IV d. land Il

For the purification of metals, Match List | with List Il and select the correct answer:
List | List 11

A. Ag - 1. Electrolyutic method
B. Cu - 2. Cupellation method
C.Ga - 3. Solvent extraction
D.U - 4. Zone refining
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2 GeumshGmens &5H8sfeG0 (Wemmuled, UGSH-1 Wb ugH-I1 Wb uNks. U@, 6Lp
QarhsgleTen Flwimest eNenLenild & (5.

UGS | uags Il
A. Ag - 1. WBetTeTTMHUEGLIL (LP6DM
B. Cu - 2. §aLGeuE6T (LHemm
C.Ga - 3. &m&eL cpeold NGOG HS 6L
D.U - 4. Gemet &5 &ML (LpedM
A B C D
a. 1 2 3 4
b. 2 1 4 3
C. 3 2 1 4
d. 4 2 1 3
The type of municipal personnel system prevalent in Tamil Nadu is
a. Deputation System b. Separate personal system
c. Unified personal system d. Integrated personal system

SLODBITL1g.60 HHALMLPSH BSITL SN0 Sl Llig&HaUUL (B U@L LITNUITET] (LPenMemLD
6TEUEUMGBENUIF FMIHS SHI?

a. mMHMILILETT (HenmemLD b. gefllul L vewNwmen (WenmenLo

C. R&SW LeNWITOT] (LDMHMEDLD d. @mREHmEHS LW (LenmenLD

The Atm pressure at sea level is approximately ------ ?

L6V DL L Sienelled U6 6v (SIS Ieo S ?

a. 10 NM™2 b. 10° NM? c. 10° NM™ d. 10° NM2

A liquid force is act over an area of 4m2. If the pressure is 25N/m2, what is the force?

0 Hreusdenr eNeng 487 LFITL QFLOHUGHDGH NG (PSSLD 25NM? 6T6tlled SiGetT LG
QEFwWeLLILEL eNeng 6T6)6UOTE?

a. 80N b.70 N c. 100N d. 60 N
Torricelli invented the first barometer in

LmflQ&606d uTgyswmsfeant &L Mbd etk 2

a. 1645 b. 1746 c. 1743 d. 1643
The electrical appliances of our houses are all connected in ----- circuit

a. Series circuit b. Parallel circuit c. Close circuit d. Open circuit

Bl effseNed LWSTLUGSGILD OTETT QeN6WILIL 6THS CUMSBEMUIEF FTTHSEI?
a. QemLy @Qemewily b. LEs Qemewily  C. cpigw @enstoiliy d. Hons Eemevorliy
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Which one of the following is insulator?
a. Germanium b. Distilled water c. Iron d. Gold

LOI6OTEHLSGHM QUIT(HE06T S6voIL(N&?

a. Qgymefiwib b. eumemev euqgBF €. @pLby d. smsd
Which coated on iron, so that, it is called Galvanized Iron(Gl)

a. Silver b. Gold c. Zinc d. Copper
QUL 6Teng L &emed smeveusmend(® @by (GI) eTariuGHmS)

a. Qeuea b. srisLd C. §ISSHISLD d. smiugy
Who invented lighting arrester?

a. Newton b. Benjamin franklin

c. Galileo d. Goldstein

Qg HTRIK DU S6BoTLMlhGHeUT U] ?

a. Byl L edr b. QuepgLhetT LNymHIGeM6DT

C. &60e0GWIm d. GameLL ervle6dt

Heat is transferred without the help of any material or medium is called?

a. Convection b. Radiation c. Conduction d. None of these
cpeu&Famiseiler @uisshlsorhl Q& weoL(heus) ?

a. Qeulu severd b, Qeulin sHFefFL €. Qeulil SLGHL d. COHSEIL sTemeuw|LBLEmEL
Successive refection from two place mirrors is ------- ?

a. Telescope b. Periscope c. Kaleidoscope d. None of these
A FgeT lq&H6MTL QASHTLJHG THATTAMLIL SlemL i) ?

a. QLevervGaL b. QuiflervCamLl C. smeoLmervGaMl  d. GMSEEIL sTemeulLBleLEmEL
Choose wrong one?

a. Yellow b. Orange c. Red d. White
QUTBHSTENS S6voILMI&%?

a. LDEHF6N b. syrEh& c. &euly d. Qeustemen
Who invented the refraction of light?

a. Galileo b. Goldstein c. Newton d. J.J. Thomson

HoiNflens cwenmenwl e Mibheu Wmy?
a. &e0e0GwWim b. GCsmebL erviesst  C. Byl L 6ot d. Ce.C.gmbss

The most confortable distance the normal eye can read is?

Qgefeym &T_SuNett BEFHM QASHTmEV6Y?

a.45cm b.20 cm c.25cm d.15cm
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Vocal cord length for men & women is?

@60 BHTCTUIGH6T Y 6V0&6T (D) CILITIISHEBHE cTeueuaTe)] Berd 2 eeng)?

a. 15mm, 25mm b. 25mm, 15 mm c. 20mm, 15mm d. 20mm, 25 mm
Frequency is expressed by------ ?

a. Second b. Hertz c. Diaptre d. Decibel
SN TQA6UETITETNET LS ?

a. Qmmg b. Qamijer C. L WITLIL Y d. QL&Qued
Audible range of hearing for human beings?

oevilgevilent QFa 2 6] QB(HSSHLD ?

a. 20 HZ — 25000 HZ b. 16HZ — 2000 HZ

c. 25 HZ — 2000 HZ d. 20 HZ — 20000 HZ

“Bose — Einstein Condensate” belongs to which state of matter?

Gumerv ReTervle 60T HTEHIIL_60TGErVL 6T60TLIGHI LI ELIT(H6TH6N6 615HFHemeuniimeusd| Hlemev

a. 4" b. 3" c.5" d. 2"

Have neither definite shape nor definite volume is?

a. Solid b. Liquid c. Gas d. Plasma
GMOUNL L LG LeTanGelr, allgaiGLom @eLeuns ) 6182

a. S b. &yeu C. eumy d. Menmerviom
1 nano mater is?

@@ ChGeorm LI 6T6TLS) ?

a. 10" m b. 10° mm c. 10 mm d.10°m

1 acre is equal to

1 g&51 e16oTLG) ?

a. 4647 m’ b. 4747 m? c. 4046 m? d. 4047 m?
One hectare is

a. 3.28 acre b. 3.39 acre c. 2.5 acre d. 2.47 acre

1 Qam&GLIy eTeoTLIG) ?

a. 3.28 &80y b. 3.39 g&ai C. 2.57 ¢g&8iy d. 2.47 eg&siy
1 light year is ------- ?

1 cpell sy 6001(% ?

a.9.46 x 102 m b. 9.46 x 10" km c. 1.496 x 10" m d. 9.46 x 10*? km
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1 astronomical unit is------ ?

1 eumetiliied SI60G ?

a. 1.469 x 10" m b.1.496 x 10" km  c. 9.46 x 10’ m d. 1.496 x 10 m

Who successfully constructed first pendulum clock?

a. Galileo b. Newton

c. Christian Huygens d. Goldstein

(PHEVMEUG 291560 HIQHMILD WML 6MIgEUEMLDSSLILIL L §I?

a. &e0ledGwim b. HupL L ebr

C. &MervigIIeH maMReEiTaN d. GamevLervlesdt

In which year 1% pendulum clock invented?

(PHLMTEUG] 261F6D Bl SHMILD SH6vorL MILILLL L 46601 ?

a. 1642 b. 1660 c. 1647 d. 1657
2012 Olympics held at?

a. China b. India c. London d. Shanghai
2012 spedIbING GuUMLlg 6TRIG BHEOL QUDMEI?

a. &eurm b. @b&Hwim C. 6L6TUIL 60T d. smrsmi
Which compound reduces the risk of heart disease and certain cancer?

a. Acetic compound b. Phenolic compound

c. Eathelic compound d. Butane compound

@awCHML (1) YHMICHMLSmET SHSGD HeiTemDU|EDL U CFFLOLD ?
a. o&Llgs CaioLb b. SermuNsé Gaod

C. 615816018 G&IJLOLD d. Ny GLetr G&iioLd

What is the weight and height of Delhi, Qutub minar iron pillar?

QL 6L - GGILheTT @(HLDL GeTnISHaTlesn 6TemL (LD) 2 UIFLD ?

a. 6500 kg, 8 m b. 7000 kg, 6 m c. 6000 kg, 7m d. 7500 kg, 7m
The Average of 10 numbers’ is 8, Average of first 5 numbers’ is 5.5 and that the average of last 4

number’s is 9.5 Then find the middle number?

10 erssmaefstr sgnaf]l 8 @, (GO 5 causeafer &ymafl 5.5 HGW WOHMID S 4
siuseflett sgmafl 9.5 Q@D 6T60TMMeL [ ETETTEN6ET SHTETIS.

a. 14.5 b.6.5 c.95 d.12.5
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The Arithmetic Mean of a group of 100 observations was calculated as 73. It was later found that
one observation was wrongly taken as 75 instead of 50. The correct mean is

100 eteimrgemens; QML e QAHTGSuUN6r sungl 73 eT6mé HEOMSEHLLLLL . Nedr SO 6T651M

66001 HEUMIGHEOMS /5 6T6dIM) THSHHSQASBTETOMIULL & QFHFW eubhGG. FHlITest FITEFFUIT6OS 6T6oT601?

a. 713.25 b.73.5 C.72.5 d. 72.75

The Sum of 6 numbers is 666. The Average of first two numbers is 85 and the third number is 96.
What is the average of last 2 numbers is?

6 srauseMett sa(h&T 666, SuMMEL (LPFHL Qe sTasuseilstt FHmEfl 85 eL6TMMTeUG| 616501 96
cTeofleL G & QeI eT6iniSHeMedT FITEIfl 6T6vT6012

a. 150 b. 200 c. 250 d. 300

The Arithmatic mean of 100 numbers was computed as 79.75. It was later found that two numbers
82 and 33 have been misread as 32 and 133 respectively. What is the correct mean of the numbers?

100 etcimselétr gal (K& &npmafl 79.75 e16iim) SeoisHL UL BeTongl, e wHEH 82 wmmid 33
AW Queini(hy s EHD (WPeMGW 32 wmmIb 133 616im UM HEusHS6 61(hHGI%
QamemenlILL L g LN6oTes) GGl MILILILILL &I, SihG eTetngerilenr &flwimen ol (K& SOMEIS eTsorenr?

a. 79.85 b. 79.25 c. 79.50 d. 80.25

The Arithematic mean of 15 numbers is -20. If 5 is added to every number, then the new arithmetic
mean is

15 aitmseflest sal (b sgngfl -20, eeuQeun(p 6T@ITDIL DI 5-8 Fal lqamed KL &GS Ll
ol (h& Fnm&ifl eTeorent

a. -5 b.-10 c.-15 d. 10
If the mean x, x + 2, x + 4, x + 6, X + 8 is 20 then find the value of x

X, X+2,X+4,X+6, X+ 8 ettt c16m1&6Mett gpmafl 20 eteofled X-Qi6t1 LI ST6v018

a.8 b. 16 c. 32 d. 4

The average of a boy’s marks in 7 subjects is 75. His average in 6 subject other than science is 72.
How many marks did he get in science?

@ Lomswsteuetfled 7 UM Fugefler sgmefl wHUQUsT 75. sifielwied urLLd elif 6 umL migefer
ggnEf HUIQUETT 72 eTeoNled SieustT SiMiaNwied LUTL§H6L QUMM EHLICLIETI 6TedT6ur?

a. 75 b. 78 c. 93 d. 90
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The average of 11 results in 50. If the average of first six results is 49 and that of last six is 52. Find
the sixth result

Wwsev 11 erevngefstr snmafl 50. 6L (WpHeL 6 cetarselest spmafl 49. s & 6 eTevorseMedt
gl 52. etesfled, 626u8) eTevvieuNedr LOEIL?

a. 45 b. 50 c. 56 d. 66

The average age of 4 sisters is 7 years. If the age of mother is included, the average is increased by 6
years. The age of the mother is

e FGangfleeie gqmefl euwig 7 euGLMSET. MUl QMg s CEJSGL QUG Frmai
6 UBLMRIGST FaB&H6TMEI. 6T6fled, HTUN6IT UG

a. 37 years b. 34 years c. 33 years d. 28 years

The average salary of all workers in the factory Rs.60. the average salary of 12 officers is Rs.400. the
average salary of rest is Rs.56. find the total no.of workers in the factory?

@@ Qampimgmmeouiled o eren Qgmfleomeanjseflsst gyrgfl eafuib ch.60 oG fsmilgen 12
Guifletr spmafl eafiwid ¢m.400. s peten Qamflenmenyseafent symafl sarHuibd ¢n.56 sTesiled
QamAMHEFTamevuileL 2 6mem CDTHS CGMLHlLMETHATEI 6T6TETNGMS SHT6T0I%H

a. 1116 b. 1032 c. 1212 d. 1132

The average weight of a group of 25 boys was calculated to be 30kg. It was later discovered that one
weight was misread as 25kg instead of 35kg. Then the correct average is

25 emuwettgeMeit grmal steml. 30 HCeomeuns SHEUGHL UL L GI. €(h OHULIDINL I 6TenL 35
HGeom 6THILHDHG LSO, 25 HGCEOM 6T6IIMI HEUMTSH 6T(PAWLIMOGHESI LN6dT6wT]

SR SSLILLL & 2 WI6HLOWITS FITE] 616D SHIT6H0I%H

a. 30 kg b.30.2 kg c. 30.4 kg d. 31 kg

What is the average of first 10 prime numbers?

WseL 10 usm estargeilett FFTEFleml SHT6To18?

a. 10 b.12.5 c. 10.9 d.12.9

What is the average of squares of the first 20 natural numbers?

WaeL 20 Quied cTanSaN6T EUTSHSHSSH T FTTEFFlENII SHT6T0I8?

a. 141.5 b. 143.5 c.147.5 d. 1495
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The average of first 5 numbers in the multiple of 4 is ?

BI6TSHT6L CLUIHESHEIMTEL HMLSGD (LPFHeL S 6T6w01%H6MesT FOMTEFFlenI SHIT6T15?

a. 11 b. 10 c.12 d. 13

The average of 9, 6, 7, 8, 5 and x is 8, then the value of ‘x’ is?

9,6,7,8 5Swhmib X-@er spreflunhg 8 @G, NG X-@Q6iT WEHLIHL SHT65os?

a. 13 b. 12 c.11 d. 10

The average of 5 consecutive odd numbers is 61. Then the difference between the largest and
smallest number is?

QBTLFEOWITSG 5 spmemmULIENL 6Teunseiledt Frmeflimsng 61 @b, MG Quil WOHMID Al
616001 G660 QNG SHILITESHENG SHIT6H018H?

a. 3 b.5 c.8 d.7

The arithmetic mean of 10 numbers is -7. If 5 is added to every number, then the new arithmetic
mean is

10 sictmiseilest gal (b oM&fl -7. eelQeum(, TEIGEDIL 6MID 5-08% Fal 6T HMLSGW LS
ol (y &yn&if

a. -2 b. 12 c. -7 d. 17

In a class of 30 students the average age is 14 years. By the inclusion of the teacher’s age, the
average age is increased by 1 year. What is the age of the teacher?

30 mewTauTSHeT 2 6o ep(h eUGLINeT Fm&fl euwigH 14 AFILTSEET euwmGUID CETEHSHIS
Q&meILmed &FOmell euuig) €6 Fa(BHMG 6T6ofled, W AFWIFEST UUIG) 6T6dT60T?

a. 45 b. 50 c. 40 d. 55

Five years ago the average age of A, B, C, D was 45 years. By including X the present average of all
the five is 49 years. Then the present age of X is

A, B, C, D gy &Guinifletr gpmeifl euwg @bhs UGLRSERSS (WeT 45 syan@sen y@w. A, B, C,
D, X g8Cwmiflest smCumenguwl sgmsil euwgh 49 syueiihsen elssled X-@Qi6tT HHCUTOSIL 6ULIG|
66016012

a. 64 years b. 40 years c. 48 years d. 45 years

Sum of three consecutive even integer is 54. Find the least among them

epesTm QHMLFESwmenT QrLenLLiLenL eT6nselstl Fa(BHed 54 Y @GLD. S 6TEHOIENC SHIT6H0I8?

a. 18 b. 15 c.14 d. 16
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The average of 7 consecutive positive integers is 26. The smallest of these integers is:
QETLIFS WIS 7 eclsusener Frmsflmeig 26 g @&W. 0§ SO 6T6ToT6n6m SHIT6T0s:?
a. 21 b. 23 c. 25 d. 28

The average of five numbers is 20. If we eliminate one number from it, the average will be reduced
by 5. What is the number eliminated?

S erstmgefent &ymEfl 20 Sifled QbHEH @ sT6msmenn HEHemed Fymefluiied 5 GOMEMG 6TevileL
B&SLILLL 6T6T0T6M6T018 SHIT6T0TS
a.5 b. 40 c. 20 d. 15

The average age of a husband, his wife and son 3 years ago was 27 years and that of his wife and son
5 years ago was 20 years. What is the husband’s present age?

CPETMI QUBLSHME (WD6ITL, S6vuresdt, enerall HMILD &esNletr Fumefl euwg 27. sieujsened
wensmall WOHMID Ww&efstt synefl euigH 5 uGLSHNSG wWet 20 euwigser. eefled &evoreuesilest
SHCUTENSIUI QUUIG| 6T6IT6?

a. 50 b. 30 c. 40 d. 45
The average of 13, 23 3% 4% ...... 5%is

a. 40 b. 41 c. 43 d. 45
The average of 7.5, 3.2, 20.5 and x is 10. The value of x is

7.5,3.2,20.5 mmmid X-@etr ggmeifl 10 etesiled X-Q6d1 LOSILIL 6T6T60T?

a. 10.5 b.12.5 c.8.8 d.12.8

What rate percent is 1 minute 12 second to an hour?

@@ HOILD 12 eNemq&6 6T60TLG| 62(h LOWNUNED 6T&HSHM6T &F&H6iHLD?
a. 1% b. 2% c. 3% d. 4%

If 50% of (x —y) = 30% of (x+y) then what percent of x is y?

(X —y)-@s6t1 50% = (x+y) —@Qet1 3% 6T6vll6L X—60 Y —@Q6tT FFHOHLD 6T60T6VI?
a. 25% b. 50% c. 75% d. 100%

Rani got hundred percent marks in maths. Raju got 20% less than Rani. Bharat got 20% more than
Raju. Marks scored by Bharat is?
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&g sHed Qumewil 100% wHuQUemssT QubmieTenTy. @pmewilenwt el @npmegze 20%
GOmeUsd QumbmieTenme. @umegeemnel oL UFsH 20% SiHsms QuOHMIeTeTTsT. 6T6sfled LTS
QUMM LSIICILIETITS 61T

a. 100 b. 120 c. 96 d. 84

A shopkeeper discarded 40% of the oranges he bought and still has 420 oranges. The number of
oranges that he bought was

@ HMLESMT 40 §50IHID YIEhHL LLPHIGmET HIGHW N6, SeuflLd s 420 oyeEhsaiL
LILPRIGET @QU(BHSH6. ShS HOLSSTI 61HGHM6T QTEhGHL LILDMIGHENET GUMRIK 62

a. 500 b. 600 c. 700 d. 800

If A is 150 percent of B, then B is what percent of (A+B)?

‘A’ etettug) ‘B’-@setr 150 ggaigbd stefled, ‘B’ estiug (A + B)-60 gl etsre?
a. 33 1/3% b. 40% C. 66 2/3% d. 75%

The population of a town increased from 1,75,000 to 2,62,500 a decade. The average % increase of
population per year is?

10 eu@pLSHHD e B&Hl6 &S QG Tenswimeng 1,75,000 - e®mHE 2,62,500 g6 2 wFHME)
61607160, &HIBSHS6T FITEFH 2 WITeneu SHT6HoI5

a. 50% b. 55% c. 5% d. 5.5%

A student has to obtain 33% of the total marks to pass. He got 125 marks and failed by 40 marks.
The maximum marks are?

meeufsen 33% WwHUGUGN Qngg EHLCLGIaIN0 QuDHDTEL CHIEFH 6sTm QHEHAMS).
S4601M6L (15 Lomevoteuedr 125 w&HiCussn Quoml 40 HLCUET Gemmeursd QumHm CHTES
QuDENELEN6L 6T6B1l6D, CILOMGG LOSIICILIGTITENETT SHIT6TOIS

a. 300 b. 800 c. 500 d. 1000

At an election involving two candidates, 68 votes were declared invalid. The winning candidate
secures 52% and wins by 98 votes. The total number of votes polled is?

@@ CaigHe0ed @uean®h Geulumerjser Curlly QE&TD6], HHS CHTHE0EL 68 UTEHES ST
Q&ebeLg 6Te0TM SNONSGSLILGEDG. L QeunmM QuHM Ceulumeny 52 FHaBLD UTEHEG 6N
QuOHm WOHMID 98 UTEGSHET H&D QuDHM QeudHmM QUBADTY 6T6fled, SiHG CHITHENL QLTSS
UMTEHEGeMM60T 6TEHUI6TNSH6MS SHIT6U0I5%

a. 2382 b. 2450 c. 2518 d. 2210
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Which is greatest in 16 2/3%, 2/15 and 0.17?
16 2/3%, 2/15 womib 0.17 @HeL 618 QulwIG?
a. 16 2/3% b. 2/15 c.0.17 d. None of these
65% of a number is 21 less than four fifth of that number. What is the number?
Q@ cTermentNenT 65% SyenE NHG eTevueniedr 4/5-60 21 GMMEY YEGLD. SHHS CTEHIEHETT STETIS?
a. 150 b. 140 c. 160 d. 120
The price of a shirt increased by 15% and then reduced by 15%. The final price of the shirt?

@@ slemLullstr eflsmev 15% 2 wfHmE MG 15% GOMAME. HMLE aNlenevsnil ST6us

a. Increase by 2.25% b. Decrease by 2.25%
c. Increase by 5% d. Decrease 5%
A student secures 90%, 60% and 54% marks in test papers with 100, 150 and 200 respectively as

maximum marks. The percentage of his aggregate is?

100, 150 wmmib 200 stetim sifleul s wHLCUETSsT QamenL GCeialled 90%, 60% womid 54%
6T60TM) LOHLICILIETITSENT QLI Hl6TM6uT] 6T6vTl6L, SIQUTSHEHEMLII QOGS SHLIGLITIIERNEL QUMM
LSHICLETETNET F&H5H5HME S5

a. 70 b. 74 c. 60 d. 64
What percent of 6.5 liters is 130 ml?

6.5 e0LLifleb 130 LA.eO0-Qs6tT &HBLD 6T6oT60T?

a. 1% b. 2% c. 3% d. 4%

If A earns 33 1/3% more than B, how much percent does B earn less than A?

‘A’ etettueu] ‘B’-@ el 33 1/3% oihsld LTSS 6T6irmmev, ‘B’ etettueuj ‘A’-emeu el
155N FHHLD GeMMEUTSH FLOUTELILIT]?

a. 50% b. 25% Cc. 75% d. 150%

The population of a town is 1,76,400. If it in increase at the rate of 5% per annum, what will be its
population after 2 years?

@@ BEIHSH6T &S QFmamswnearg 1,76,000 g @W. W&&6T QHTmS 6 UHLSHHNSG 5%
6160TMI 2 WTHME! 6T60TMM6L, U(BHES 2 QUL FHHCD &S CQGHTENSHUINGIT 6T6H0T60TEHEMSEMII SHITETUIS

a. 1,90,481 b.1,99,481 c.1,94,481 d. 1,93,481
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The value of a machine depreciate at the rate of 10% per annum. If its percent value is rs 1,62,000.
What will be its worth after 2 years?

@@ QubHIsHsT sHCUTMFW ellemeowimendl €b.1,62,000. sihg QuIbHTSEHe EHLILITETS)
@0 aBLSHNG 10% asarm @RGHDE 616fed, 2 QUBLSHDEG MG ST SLisnL
ST60015?

a. 1,31,220 b. 1,92,000 c.1,32,220 d. 1,33,220

If a man after spending 97% of his income, saves rs 300 per month, his annual income is?

€(h BLIJ SETnINLIL 6@ TG eUbBLIaISHed 97/% Qe Qg5 DG, €5.300 CasEHDT.
SlUHEMLI 46001(H 6U(HLOMETILD 6TEUEUETEY?

a. Rs 10,000 b. Rs. 12,000 c. Rs. 36000 d. Rs. 1,20,000

75% of a number when added to 75, becomes the number itself. Find the number.

@(h 6Tevor6utN6dT /5%, 2 L 60T 75-038 Fal lq60IMed SiHS 616601 ML SGLD 6T6ATMTEL NHS 6T6HoT6M6T01E
&6oo1(HLIg.

a. 150 b. 200 C. 225 d. 300

The price of a chair is increased from 2100 to 2520. Find the percentage of increase

@@ BIHsTeulen alemev enmumil 2100 — eS@GHE enumy 2520 48 HSHSHS G668 6T6vTled
3155055 alenew FHABHSHMGHS ST

a. 15% b. 20% c. 10% d. 25%

In an examination, A gets 20% less marks than B, B gets 30% marks less than C. If A gets 112
marks, Find marks obtained by C.

@@ Garaled ‘B’-m ol ‘A’ 20 565 WwHUCUGISET Gemmeunsd QumiHmmy. ‘C’-0 el ‘B’ 30
5618 HLCUEIST Gsmmeursl QuMIEOT). ‘A’ QubHm WHOIGUISsT 112 etesiled, ‘C’ QuUHM
LOSIICILIGTITSET 618 & 6016012

a. 150 b. 190 c. 200 d. 250

In a college election fought between two candidate got 55% of the total valid votes. 15% of the votes
were invalid. If the total votes were 15,200. What is the number of valid votes the other candidate
got?

@@ SHLOVMluNed BLAUDHM CHIHNL @etoi(y CeulLmenjgHer GUTLIquill L 6oy. NH6L €(h
Ceul_umenmy QLTSS QFLEID UTEHGHaMN6L 55% FHaT% UTEGS6T UMDY, QLSS
aUTSGSeMeL 15% 5675 uTEGS6T QFeunHmel. Q5HCHTHE0L QLTSS 6UTEHE SNt
stevutentN&s 15,200 etenfled MH@MIT@R Geulumenj QUMM QFELEYID CUTEGS6NT sTel6U6TE ?

a. 5814 b. 4560 c. 1000 d. 5520
\
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97. The ratio of the no. of boys and girls in the school is 3:2. If 20% of the boys and 25% of the girls are
scholarship holders, What percentage of the students does not get the scholarship ?

@ UeTeluiled emLwIesTSHeT HMID Quesigeafent eNAGLD (WenmG 3:2. 20% 6mLILIEHTS e &G LD
OHmID 25% QUETSELSGD 2 SaNGSHTMS KL SHMG 6TesNed, 2 HMNGHASHTMS HenL oLl
QuDME LomeTTeUTS6M6T F&H6IHLD 6TeleueTEy 2

a. 70% b. 72% C. 76% d. 78%

98. Of the 1000 inhabitants of a town, 60% are males of whome 20% are literate. If all the inhabitants,
25% are literate, then what percent of the females of the town are literate?

@@ BEIHHT &S Qgmeng 1000, oifed 60% o 6us6T, euTHaTNed LigsSHeUTsHeT QLSS
L &s 20% QuettigeafleT FgHaled wng 2

a. 31.5% b. 32.5% c. 33.5% d. 30%

99. A batsman scored 150 runs which includes 4 boundaries and 9 sixes. What percent of his total score
did he make by running between the wickets ?

@@ LLoLUUBS efff [earser aG&S T NHL 4 LeaTLfe@ph, 9 HEervfsEpD L RIGLD.
SI6U6tT 6l 61(h5S NetTSeNletT FHATHLD eTeleueTEYy 2

a. 45% b. 53 1/3% C. 54% d. 59 2/3%

100. In an election, one of the two candidates got 30% of the total votes polled, but he lost by 210
votes. What was the total no. of votes polled ?

@Qnstoi(y CeulumenjgHen QsmenL. (b C&HTHe06L 30% eurd@sHen Qumm Geulumeny 210
QUTEGSH6T  NGHHUWTFSHSH6L CHTLEN DL HSM] 6T6sN60, QOTHS LIS6UTEST 6UTEH G 66t
6T600T600N S 6TEUGUETEY ?

a. 555 b. 560 c. 525 d. 585

101. Which commission recommended 27% reservation for backward committee?
a. Sarkaria Commission b. Mandal Commission
c. Kalelkar Commission d. Shah Commission

NOHUGSFILL L uGUINTH6G 27% QL 8165 mL aMéHs LFhSIm]T QUDRISUI Q) en6mTiLD
6187

a. SFSTHIWIT Sy 6M6TLILD b. LD6TOTL 6L Gy 6M6TTTUILD
C. &C6VELSIT I EM6TTTUILD d. eom gy emesunuiLD
102. Which schedule of the Indian Constitution specifies the powers, authority and responsibility
of Panchayats?
a. Seventh schedule b. Ninth schedule

c. Eleventh Schedule d. Twelfth schedule
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AbHSI SITELIELEMLDLILTNGIT 6THG L L 6UemewuTulled LEh&FMLSSH (WPemmUIlei QMMeL, SHSSTFLD
LMHMID QUTMILIL&GemeT GO LU (heTerenr?

a. EJLPMeUG| S L 6)6M6TIT h. eeTLSTUG I L 6U6m6T0r
C. USQETTETIMTEUS S L 6656001 d. ueTeNQI6TOTLMeug S L 66m6u0T
103. Consider the following statements:

Assertion(A): Fundamental Duties do not have any legal sanctions
Reason(R): The Fundamental Duties cannot be enforced by courts.
a. Both A and R are true R is explains A

b. Both A and R are true R does not explain A

c. Alis true but R is false

d. Ais false but R is true

gamml A: SlqLliLML &L MD&GEHHSG FLLLILLTOIDTE RISSHTTLD SHenL Wing)

snyeid R: H&H DTOMIGET g LILenL. SLen&eT QFweLGSSUILGLTM HiubSHésaNuicons
a. Awmpmib R @rem(hG &, Cogid R eetug A @ &flwimsr elerésid

b. Avpmib R @resmGCw &ifl, Ceyd R estirug A em@ sflwmen aNerssLe060

c. A&l gyeommed R seum

d. Agam syeormed R &

104. Which Article with administrative Tribunals?
a. Article 323 b. Article 323A c. Article 323B d. Article 321
Hyeurs STuumugengll UHMIL HFHILEVEHLOLIL Q9SS
a. egrsg 323 b. eensg 323 A Cc. egrss 323 B d. eorsg 321
105. Match the feature of the constitution with the Country from which they have been borrowed:
Feature Country
A. Rule of Law - 1. Ireland
B. Judicial of Review - 2. Australia
C. Idea of concurrent subjects - 3. USA

D. Directive Principle of State Polity 4. England

S&HHIL. SITHUIEL EMLDLINNGIT FHeSTeMIDGHENET Slemel QUMLILL L. BT(H&HEpL 60T CILIT(5ESSHIS:

SIDFLD (H6GT6MLD) BT

A. slL g6 oyl & - 1. suwgeonmhg|

B. B&lysorymiiey - 2. gyervHCreduwim

C. QUTGILILIL IqUIEOIEVIETEN &(1hSSI&6T - 3. YQWHfEST

D. sip&lstt QpMwenm GCamlum@® &6t - 4. QriKeonhg)
A B C D

a 4 3 2 1

b 1 2 3 4

c 2 3 1 4

d 4 3 1 2
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106. Right of Education is given through which of the following Amendment?
61he SITHIIELMDLIL FLL H(HSHSHH6 cpeLld &L MG 2 FlemD QUPMIGLILIL L §)?

a. 86" b. 87" c. 88" d. 89"

107. Which of the following words did not find a place in the preamble of the Constitution of India
as adopted by the Constitution Assembly on 26™ Nov 1949?
a. Socialist b. Republic c. Sovereign d. Democracy

Nesteumd eumjsHamg s en 1949 peulbulj 2660 HemmCeummiul L @bl HFHwevsnoliiNed @L Lb
QumeNeLEM6L
a. GO b. Guwrs C. @empwneueny  d. &SI

108. Consider the following statements:
Assertion(A): Enjoyment of rights is conditional on the performance of duties.
Reason(R): The society cannot safeguard the individual’s interests unless the individual fulfills his
obligations to other.
a. Both A and R are true and R explains A
b. Both A and R are true R does not explain A
c. Alistrue but R is false
d. Ais false but R is true

gamml A: 2 flemsemen H@IUaNILQSHETLS SLen&ameT HenmGaummid HLbHSmesTshEGL UL L g
sMyeid R: seolibUl §65T SLen&snen HenmGeummng LIL&&HE60, FesSHSTeL &euflbLfeor
HELEMEIT LITGIHTES QUICOTE)

. Appmib R @raun@G &f, Guoeyb R eetug A eH@ Flwmest efenésLd

b. Abppmid R @raun®Cw &ifl, Cuaib R setug A ehH@ et aNaréswneden

c. A&, geommed R geoum)

d. Aseum syemed R &ifl

[o})

109. The importance of the Constitution (Ninety fifth) Amendment Act 2010 is
a. Extend the SCs and STs Reservation bill
b. Newly formed State of Chhattisgarh
c. Reservation for the socially backward
d. Reservation for the educationally backward

956u5| ST ol ShsS FLL LD 2010-Qetr (LPEHHUISSI6ULD
a. QHHITNL) HMID UPHRIGQUIETHESTET QL 816560 BlgLiL
b. ggdevai UHw wrhHeod 2 Fuibd

C. FepsHSled NetT HRIEWTEELES QL @5HI5E0

d. sevalufed NetT SRISWTEEHES QL @5ISE0H

110. Who has the power to appoint the Finance Commission in India?
a. Prime Minister b. President c. Speaker d. Vice President

H&&&5LN626M6T JMDEHGWD HNHSTID WTHES QHSSHDGI?
a. gsw WHAM b. ®YWIs SHemeveu C. FUMBMTLS]T d. Sl GQWITE HENeVE]
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Consider the following statement:

I. Period of the members of the Rajya Sabha is 5 years.

Il. The Rajya Sabha is not subject to dissolution for any reasons
Which one is/are correct?

S&HEIL. FaMHMISENET SHel6tT, 618 &ifl?
l. prgw semu 2 mUNerjeefls LUSHONSTELWD 5 U@BHLID PG
Il. prgw Femueml 16&MI6ID QSMEIEHD HMeV&Hs (LPLG LIS

a. lonly b. Il only c. Both I'and Il d. Neither I nor 11
112. Which Country introduced the rule of law for the first time?
a. England b. America c. China d. India
“FLLGHH6T L& 61601 (MM (LPGH6TT (LPHeOI6L 6THG% BT 160 Q&mevnr(heuyLLL L GI?
a. @R&eOMHE) b. Qufssr Cc. &eurm d. @pHwim
113. Match the following:
A. Article 54 - 1. Appointment of Governor of a State
B. Article 73 - 2. Chief Minister and Council of Minister in a State
C. Article 164 - 3. Election of the President of India
D. Article 155 - 4. Prime Minister and Council of Ministers appointment
QuUIT(55815:
A. elg 54 - 1. rhiev shEpHeny HuIhgsed
B. end 73 - 2. (pHVEMLEST (D) LOMH6L LHEHFEmL
C. e 164 - 3. ®lWrs semevealiflar C&I&HeL
D. end) 155 - 4. Tgsw LHEF () WHHFFmU HLILDETLD
A B C D
a 3 4 2 1
b 3 2 1 4
C 1 2 4 3
d 3 2 4 1
114. Which one of the following powers of the President of India has been wrongly listed?

a. He is the Supreme Commander of the Armed forces of India

b. He makes all the major executive appointments of the Union Government
c. He Presents the budget before the Parliament for its approval

d. He can declare war and make peace

G W& HmeLeUfle HHSTIRIGENED HEUDTETTENG SH6vorH&?

a. @euj (WLULMLS6T6T FHemeve]

b. @6uj wWEHHW SFHetT (PESHW LGNEEmeT HlDeTd QFWISMMIT

C. Glywnd Hemeval] LULCAKL L Q@ Slsneuseilso (LesTesilemeouiled ieneauseanesl 62LILISeIHE
USE M.

d. @euj siemE HMID CUTHESTET 2 L 6ITLIGSMESMT CLOMASTETS M
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115. Which Article empowers the President to dissolve the Lok Sabha at any time before its
tenure?
a. Article 85 b. Article 95 c. Article 81 d. Article 75

61hG SITHILELEMIDLIL FLLLD GlQUITE HMEVAI(H&HE LTTTEHLOGTIMSEH6T S HENEUMII HM6V&HS
SHEMID SleN&HMGI?

a. eNg 85 b. e 95 c. N 81 d. eNd 75
116. Who presides over the joint sessions of the Parliament?
a. The President b. The Voice President
c. The Speaker d. The Prime Minister
LTIT@pLO6TTMSHH6TT Fal (H SILDFM6U (Fal L SH6M&) L SSIOUG WIT)?
a. GqWrs HEneve b. glemew GlqWfs: SHeneveur
C. &UT BHMUSI d. Ogsw wHAH
117. Which Article of the constitution provides for the imposition of President’s rule in the
States?
a. Article 354 b. Article 355 c. Article 356 d. Article 357

wrheorsefed gamHush gl few gHUGSS Uflheny Qe eNg
a. eM& 354 b. eng 355 c. & 356 d. eng 357

118. When the problem of corruption in public service assumed serious dimensions, the
Government of India appointed a high power committee under the Chairmanship of
I. K. Santhanan Il. A. Ayyangar [11. P.V. Subbiah IV. K. Hanumanthaiya

SI&L Lengefled 2a1ped FOUBSULUL L LNJFFenesHen 2 &&F SLLLD 61601m Hlemeouiled @rbHul
SITEMRISSHSHTEL FOURSSUULL. 2 WIFOLL & G(PET6T SHemeveui]

l. C&.8h& M6 Il. 6T IWImIS Ty . DeNalsouwr V. C&.9igmInhen gl
a. Il only b. IV only c. lonly d. Il only

119. Which article of the Indian Constitution justifies the importance of the Ninth Schedule?
a. Article 31B b. Article 31C c. Article 31D d. Article 33

ERETLSHTOUFH SIL_Leusneuoruilest (&HIGFIUGHmS BumulLBSSHH6n Qb AHTHUIOEDLOLIL
aNg) 61§12

a. eNd 31-B b. eng 31-C c. e& 31-D d. end 33

120. Which articles deals with the duties and powers of the comptroller and Auditor General of
India?
a. Article 147 b. Article 148 c. Article 150 d. Article 149

QhHII HMELENDG SHEIHHMUIJ OMHMID HEWNSHEDSUITETHI6H SLNLO&G6T MMID HHSTHISHEDENT
alenéG &I g 6182
a. eNg 147 b. eN& 148 c. eng 150 d. eN& 149

AC - 12, 3" Floor, 2" Avenue, Anna Nagar, Opp SBI Bank, Chennai — 600 040
Call : 044 — 43537455 / 09840 557455 : e-mail: impactias@gmail.com




Pagez 0

THE IMPACT IAS ACADEMY
CHENNAI /HOSUR / BANGALORE

121. The Union Territory of Delhi became known as National Capital Territory of Delhi since
1991 after this amendment

QL6060 uetlluiest 1NPCHED 1991-60 @bs STHwievsmdlil] HHSHSHSHMEG N6t CHAWI §MELHSI
NyGCHED 6T6e0Tm) SIHIILILILL &)

a. 89" b. 81% c. 74" d. 69"

122. Rajya Sabha members are elected by
a. Directly by people b. By members of State legislatures
c. Local Government institutions d. Only by State upper houses

mhevmiseatenel 2 MIULETISHmaTS CHIH0SHLLS

a. W&&GeT CHIlgWITs b. wrhlev FlLweTm 2 miLiferysermed
C. 2 6MeNML& SIeMLOLILSSENITEL d. wrhev Cevemeu 2 MILNETIEHETTEL DL (HLD
123. The 55" Constitutional Amendment Act 1986 provided for the establishment of the State of
a. Goa b. Sikkim
c. Arunachal Pradesh d. Pondicherry
1986-10 gy,6001(h @UIMHMUILL L. 55-6ug SiF&lievsnidlil FLL ShSHSHSHHe60 Lilg 2 (Heumest LOMHevLD
a. Gameur b. &AW
C. SIMmwImEsey LNJCHFLD d. umetorg §Gaifl
124, How many Anglo-Indian Members can the President nominated to the Lok Sabha?

SRAHCT QhHW FeLpESHHONBHS GlGUT&HS HMEVEUTTED LD&GSHETENEISHE HIULILNSELD
o_MILNeTj&HaN60T 616001600715 608

a.b b. 4 c.7 d.2

125. Lok Sabha consists of members
& sememeuuilen QOGS 2 MILILTN6TSH6r60T 6T650T6u0TE6m &

a. 500 b. 545 c. 550 d. 552

126. Select the false statement from the following:
I. Prime Minister is the head of State and the President is the head of Government
I1. Judiciary is the Guardian of Indian Constitution
[11. High Courts in States comes under the Jurisdiction of State Government

S&&IL. euTHEWRSeNed Heumneareumenmsd Caihas6h:

|. NysLOF B IG60T HTHUIVEMLOLILS HMEVEUTTEHALD, ReTTHUS BT g6 HiFeuTss
HMELEUNTEHELD CFUIeLLI(H&60TM 6T

Il. sip&flweveniolier LTHSTeuLNTE HHGHHMHMD NaThGHME

1. rhleomgefed o eter 2w FEHOGSIDRGET AH6L HTE6T SL(HLILMLIG6D 2 6Tong)

a. land Il only b. I1'and 111 only c. land Il only d. All the above
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127. Which Constitutional Amendment changed the preamble of the constitution of India?
a. 42" Constitutional Amendment b. 61% Constitutional Amendment
c. 72" Constitutional Amendment d. 74" Constitutional Amendment

AHEHW SITAWIELEHLOLIN6T (LPS6YsHIUIEL WIHMLD QFIES SNTHWevHOLI HHSHHF FLLLD?
a. 42-6u8 SIpflweveniolil HHHHEF FLL LD
b. 61-eug Sipflwevenoly SHS5E FLL LD
C. 72-6u8| Sip&flwevenloli H(BHHHEF FLL LD
d. 74-eug sipflweveniolly HS5E FLUL LD

128. Match the following:
A. Article 370 - 1. Legislative assembly
B. Article 153 - 2. Chief Minister
C. Article 163 - 3. Governor
D. Article 170 - 4. Jammu and Kashmir
QuUIT(55815:
A. end 370 - 1. 5L &emu
B. eng 153 - 2. (IPHEVEOLDEEI]
C. e 163 - 3. S4,E@pbI
D. end) 170 - 4. gy wHMID Sreoliy
A B C D
a 2 1 4 3
b 3 4 1 2
C 1 2 3 4
d 4 3 2 1
129. Match the following:
A. Lok Sabha - 1. 30 age
B. Rajya Sabha - 2.21 age
C. President of India - 3. 25 age
D. Panchayat president - 4. 35 age
QUIT(55 §15:
A. né&sanamel 2 MILLETINS 6lWIg) - 1. 30 euwigy
B. rhleomgereney 2 mitiNesyns - 2.21 auwig)
C. QWiss FHmeLAINTS QLIS - 3. 25 euwigy|
D. ughemMLSH S HEMEVAIHESSHTE IS - 4. 35 euwig)

co o
N AR WS
WNWEm
AR ADQO
P WM D
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130. The Minimum Wages Act was enacted in the year?
GMDHFLLF Fa6dl FLL D QuIHMUILILL. Sy 6501(h

a. 1946 b. 1947 c. 1948 d. 1949
131. Who was the current Union Minister of information and Broadcasting?

a. Menaka Gandbhi b. Piyush Gopal

c. Smriti Irani d. Rajavardhan Singh Rathore

SHCUMTEMSIUI $&H6U6D (D) aMUILTLIL Sl6MMUIN6CT SEHLDEFFI UIM?

a. Guesm &MHha b. NuyeieGamuied
C. erv(mLOE @rmeseh d. groeursst Sn §&CHM
132. Fundamental duties of the citizens were added in the constitution by the recommendation of:
a. Swaran Singh Committee b. Santhanam Committee
c. Shah Committee d. Mehta Committee

SlQLILML SLEOGHENET 2 (HheUTHs Uflhgleny QauuiulL Sl lg?

a. erveuretr ikl SO lq b. shgmed SO Iq
C. agrm &0 g d. Cugsm s 1q
133. The anti-defection law was passed in the year

SLEGMEUL FHenL & FLL LD Qamen(heuyLulL. g6 (h?

a. 1955 b. 1965 c. 1975 d. 1985
134. What is the chronological order in which the following States of Indian Union were created?
I. Goa Il. Uttarkhand I11. Jharkhand IV. Chattisgarh
&L LOMHELRISGENET T[T UflengFLIL(hS S s:
I. Gameur Il. 2 &&rsmegor . smjsHesorL IV. gLl1g698I0)
a. I, IV, 11, 111 b. I, 11, NI, IV c. I, I 1V, I d. 1, 1l 1, 1V
135. Consider the following Statement:
The Supreme Court of India tenders advice to the President of India on matters of Law or fact.
I. On its own initiative I1. If he seeks such an advice

[11. Only of the matters relate is the fundamental rights of the citizen
Which of the statement given above is/are correct?

S&EIL. FaMenm SpOMIS: 618 SFHIITET FamhHmI?

FLLID bOMID 2 6umsnd allaQuiHHed Gluifsisd HmeLal(hdE PCELFMET QIPhIGaIMSE 2 &
BEDGSIOD LITGHISTLILIG)

l. Qenmhg eN@mLuLD Il. Guwrss FHemeveu] gCeongener GCHLLT6L

[1l. w&seafer sigliLenl 2 [flengst QGTLJUTS L (HGLD

a. lonly b. Il only c. il only d. I'and Il only
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136. The Chairman of Public Accounts Committee is appointed by the:
a. The Prime Minister b. Speaker of the Lok Sabha
c. President d. Union Finance Minister

QUITEIS BHES G (LPEN6T Heneveuen] HIUIDEID QFIIS)

a. Ngsw wHHM b. Geomé Fumelett Fum HITWIS]T
C. G®YQWI&HS &HEMELEUI d. wgsHw HE SemES
137. Match the following:
Country Party System
A. China - 1. Two party

B. United States - 2. No party

C. Switzerland - 3. Single party

D. Brunei - 4. Multi party

QuUIT(55815:

G SITHWEL SL& (Wemm

A. &eorm - 1. @rlemL L& (Wweom
B. siQuif&ésm - 2. L& (pmm HenLuwlimg)

C. sallgjeonhg| 3. @@ L& (Wem

D. umGeor - 4. uev L& (YoM
A B C D
a 3 1 4 2
b 1 3 2 4
C 3 4 1 2
d 3 1 2 4
138. ‘Economic Justice’ as one of the objectives of the Indian Constitution has been provided in

a. The preamble and the Fundamental rights

b. The preamble and the Directive principle of state policy

c. The fundamental rights and the Directive principle of State policy
d. Fundamental duties and Directive principle of State Policy

QureeneTy B Q& QHH SFHwevsnoliNesT @ CHTEHSLNS sTeummied
QaT(h&SLILIL (HerTeng)?

a. STHWIELEMLDLINGT (&6 LMHMID SlgLILENL. 2 flenLnsei

b. SIFfleLEMDLILNET (&Y WHMID NT&HSE QASTETENSESTET ULASTL I QABHMISET
C. SlgliLenL 2 FlengeT WMHMID HJ& QSBTETENSHESME QNS LG QBOIGET

d. QIqlLmL SLEN&ET WOHMID SUFE CQSTETmSHSESTET eUNSTL G QBMISET

139. Where was the first municipal Corporation established?
a. Madras b. Bombay c. Calcutta d. Delhi

§TRIG (PHeL (WesN&lued &MILGCTasHT gOHLBSSLILIL L §I?
a. Qastreneot b. umbGu C. BVSHHT d. QLevbed
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140. Match the following by choosing answer on the basis of formation of each states
A. Kerala - 1. 1975
B. Sikkim - 2. 1966
C. Haryana - 3. 1986
D. Mizoram - 4.1956

LOMHVMIGET 2 (HeUMEITSH6T Silq LILIENLUNL SLP&HETIILeumemnm &FHIITES QLTS HIS

A. Gayenm - 1. 1975
B. 88 - 2. 1966
C. amflwmerm - 3. 1986
D. 0G&myLb - 4.1956
A B C D
a. 4 3 1 2
b. 4 3 2 1
C. 4 1 2 3
d. 4 1 3 2
141. Which of the following is correctly matched?
I. Article 153 - Executive power of the State
Il. Article 155 - Qualification for Appointment as Governor
I11. Article 161 - Oath or affirmation by the Governor
IV. Article 167 - Duties of Chief Minister Regarding the furnishing of information

with Governor

S&SILeuDMIeT FHTG QUTHSSLILILL & 618)I?

l. en& 153 - rhlev HyeuTs HNHSMILD
Il. end 155 - 9L @B HIIDETHHMSHTEN & &S S6i
. eng 161 - S EBBHOTEL TR&HSUILGL 2 MIHCIHUD UGN LNFLOTETIIULHLD
V. end) 167 - SAEHHSGSH HEH6UL aNUIUG QFHTLFUTsTTeUMMDI6L
(PGHELEMLDEF (HSHG6ITON &L 6MLDG6IT
a. lonly b. Il only c. Il only d. IV only
142. Which of the following statement on Rajya Sabha is not true?

a. It is a continuous chamber

b. It is not subject to dissolution

c. 1/3" members retire every year

d. Retiring members are eligible for reelection and recombination

grRwW sumsmelll umml Nt FadmIGaNed HEUMTETS 6182

a. QsTLIHE HSDHETM ATHIEG

b. &meL&sH (LPIGWITSHF

C. 1/3 2 mIlnNenj&6m epelQeumm 6B spule) QUMIEUTTS6T

d. el QubmeuTSsT LMILGUD CHIHOSESSILGUSNHGLD LM RIS HMHELD
&G SWITET6UITS 61T
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143. Which of the following statement is wrong?
I. The Directive principle of State policy are enumerated in part IV of constitution
I1. The fundamental rights are enshrined in Eart [11 of the constitution
I1I. The term ‘secular’ was added by the 44" Constitutional Amendment Act of 1976
IV. The term ‘socialist’ was added by the 42" Amendment of 1976

HetTe (B eUeTOIDMIET 6ThHE FadMl SHEUMTEIHI?

l. sips eupsr (G QABMEHMST ATFWVMDLIL LGS BIeTHed FamUuLl (BeTens)
Il. siglitemL 2 flenwgen F&HsmLOLIL LGS cL6TMIed FamLiLL (heTeng)

[1l. ‘wgemyisen 66im QETOHUHD 446u8 SiFHevsniolil FLL ShsSHHSHe0 1976
CesaLLLLg)

V. ‘swgiwLd 66t QFmed 1976 b peau@ 426ug HHHSHH6 Lig CHFIHSILLL )

a. Il only b. I'and Il only c. I, Iland I d. IV only
144. Which house of Indian Parliament can create a new All India service?

a. Lok Sabha b. Rajya Sabha

c. Parliament house d. None of these

AHSHWIL UTITEHLOETMSHET 6THE emed LS SiHev QHSHILIL L6wNenl 2 (heUT&HS60TD?

a. Geomd gum b. @prew Fum
C. UMJmEHLO6TH @6LEVLD d. Cumsadi egieLblcLm6L
145. Consider the following Statement:

Assertion(A): The secret expenditure is a limitation on the auditing role of the comptroller and
auditor general of India.

Reason(R): The comptroller and auditor general of India is controlled by the executive.

a. Both A and R are individually true and R is the correct explanation of A

b. Both A and R are individually true but R is not a correct explanation of A

c. Alis true but R is false

d. Ais false but R is true

SSMEYID UTSSIUIRIGENET SH66oT
gamml A: 788 L QEeue &men H6N&GmS QFIILI §MeVEMD Sa&hmns &L (HUUTL
91 &M&E S (HLUUTHEHET 2 6T6eng)

sMysid R: Hjeurimed gemevemd SeaN&Eemnsd SLGLUUTLEG iHSTH s GUUL (HSSLILL G 6TerTy

a. Appmib R @ran@Gw &6, Coed R setug A eh@ Filmest ellenésLd

b. Avpmib R @rau®Cw &, Coaib R setug A eH@ &flwimer aNaréswneden
c. A&l gemmed R seum

d. Aseum syeamed R &ifl

LN
C\g];,, 146. Which of the following is correctly matched?
= Constitution Article
I. Fundamental Rights - 12-35
I1. Fundamental Duties - 36-51
I11. Directive principle of State policy - 51 A
IV. Citizenship - lto4
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S&SULUDHMIET FFWITES QUITIHHHUIETOTS 6187

SITHWIGVEMLOLILY g

l. sugliuemL 2 feniosei - 12-35

Il. SuqliLemL. &L mLOS6N - 36 —51

. o eufasr B QrMiLpammEsT - 51 A

IV. @uwiflenn - 1 (s 4 suemiy

a. lonly b. I1and 111 only c. llland IV only d. IV only
147. The principle law officer of the Government of India is

a. Advocate General b. CAG

c. Attorney General d. Chief Secretary

LG SITFTRISSHHET (LPHETEND FLL HNHSMH

a. SHEMEVEMLD QULNSSHMIEHIT b. CAG
C. MoVl FL L F&i d. smevenng QFuwIevly
148. During the period of which Indian Prime Minister was there hung Parliament?
a. Jawaharlal Nehru b. Indira Gandhi
c. LK. Gujral d. Rajiv Gandbhi
61hg QhHW NFFLOF6T SHTevSHH QFHMRIGLD LITFIEHLOETMD GJHUL L §I?
a. geuamiyeomed G b. @by snHS
C. 8.C5.@Rme d. prgdeu HMHE)
149. The Governor is appointed by
a. Judge b. Prime Minister
c. Chief Minister d. President

Sb@bHENT BlUILOILILIET]

a. fHug b. My wHA
C. (LPSHEVENLDFF(] d. GYWr&sEs &meveu
150. How long can a money bill be delayed by the Rajya Sabha?

L6ooT LOGETHemeU LOMBIELMIGET e 6TEUCUATEY &HTEVLD FHTLOGLILI(HSHSHEVMTLD?

a. Two months b. Six months c. 30 days d. 14 days
151. The 18™ Asian Games held at
a. Tokyo b. Kathmandu c. Shangai d. Indonesia

Pagez 6

18-cugl g ellememun(h Cumlly HeoLQUHM @I Lb?
a. GLm&AGWIT b. smgLoetor_ C. QQMMRAISMILI d. @nCasmCeraduim
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152. Identify the wrongly matched pair:
Military exercise Country where it took place
a. Slinex -18 - Sri Lanka
b. Yudh Abhyas - USA
c. KAZIND - Kazakhstan
d. AVIANDRA-18 - Russia an India
QUITBHSTSH Een6uTTemL &6ToTL N&?
Gumy LuNHE BHeOL QUMM @L_MIG6T
a. Slinex — 18 Gumy LuIHA - @ eLHINS
b. Yudh Abhyas Gumy uudIm& - SQwf&aT
c. KAZIND Gumy uuimé - SR &M GIT60T
d. Aviaindra-18 Gumy LuNH& - JeiQUIm (10) @bH&UIT
153. The Raxaul - Kathmandu Railway Scheme connecting Nepal with which one of the Indian
State
a. Assam b. Bihar c. West Bengal d. Maharashtra
J&CFaT6L - SHMHLOEIL Juiled HLL LD 6ThHG LOMHEVSSHIL 65T CGITL [JLEML LLIGI?
a. Sieveromb b. Semy C. CM@ euRETeND d. WSTFTEQIQT
154, The SAFER scheme of WHO is related to
a. Environmental development b. Reducing usage of Alcohol
c. Protecting the health d. Awareness about diseases

WHO-afisit SAFER &I LD 618l 65T QST LML UIGI?

a. &Mml Fped Gobum@® b. gumeT LWTUTL DL &nms & 60
C. 2L 60 Beuld GUEISHEL d. Cemigst umMiul eNHLILeTTey
155. The first Country in the World which doubled the Tiger population is
a. India b. Sri Lanka c. Nepal d. Japan
L|eOl&6Ml6dT 6T6uuI608NSH6mSBemUI @5 LOLRISTEHSIL 2 60860 (&L HT(h?
a. @bHwim b. @eomiens c. Gpumentd d. suumedr
156. The World’s largest fish market Tsukiji Fish market located in
a. China b. Russia c. USA d. Japan
2 eu&letT SLAUFIW 6T Fhengiwimsn & 6T FHeng 6THG HTLIG6D SHEDLDHGIETONE)I?
a. &eorm b. peowim C. SIQwf&aT d. suumedr
157. Who among the following is appointed as the first women news reader in Saudi Arabia
a. Balika Sakheel b. Weam al Dakheel
c. Hina Dakheel d. Sheik uc Dhakheel
Fe g SICHNWITeNeT (LPGHeL Guen Q&g eurSLLmenyms HuwIB&SLILL (BeTerneuy wimj?
a. UeN&&T &anfed b. elb =160 Hamed
C. anfsm ganled d. Cegsé 260 ganied
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158. The Countries that are affected by Mangkhut Cyclone is
I. USA I1. China [11. Philippines IV. Japan
“DRIGL Huleomed” UTHSSIULL. BT(HS6T 6160612
l. 2Qwf&sm Il. &eorm I, Dedlsmusitery V. guumed
a. I, 1V only b. 1, IV only c. I, llonly d. I, Hl only
159. Dr. Arif Alvi is elected as ------ President of Pakistan

LISl gif -l S6vall” 6T6iTU6eU] LTHOVSTsH6 618 SHM6ILTEUS HHUGTE HUIBSSILL L T2

a. 15 b. 11 c. 12 d. 13
160. Identify the wrongly matched pair:
a. SAMPADA Scheme - Processing of Agro-marine foods
b. Ayush Man Bharat Scheme first launched in - Madhya Pradesh
c. World Tousrism Day - September 27"
d. e-diwan Scheme - e-legislative assembly

QUTBHSTH EOETTENII &6ToILMH1&?

a. LUsST HLLID - Geuenmen &L6L &My CQUT(HLHm6T L&LILGS SIS0
b. syujeiowmer UMHS SHLLID (PHOIL QHTL RIS LDTHVLD - HHW NJCHFLD
C. 2608 &M &erd - Q&LL_Lbuy 27

d. @-eNgmer SLLLD - HTHGLOLELNS FL L LO6TMLD

161. Identify the correctly matched pair:
I. Swachh dhara scheme - Cleaning the surrounding
Il. SATAT Scheme - Use of biofuel in transport
I11. Rail sahyog scheme - Participation of private entities in railways

IV. E-vidhya bharathi Digital bridge between India and Africa

gfliiment @en6uoTenl! &6vorLH&?

l. erveus gmgm L L b - SOMILTHMS MDD CI&FUIHED
Il. e518 HLLLD - 2 Ui etfleumeney CUTEGEUTSHSHISHS LILITL(HS SIS0
. guied &6Cwréd HLL b - AruNeLCeu FiemmuNeL Geswmj Grewmmuest LugafLiL
V. @-eNgwimumyé - AnHwm () HUNRSEST BTHSEHSHOLCU g8 L 60 LITeOLD
a. I, Iland IV only b. I, Il and IV only
c. I, Il and IV only d. Il'and IV only
162. Which State police initiative is e-FIR(or) Dial FIR
a. Uttarkhand b. Bihar c. Jharkhand d. Uttar Pradesh

e-FIR (or) dial-FIR et6tim S L S6m& 61h OMHeL SMeued Glewm QHTL Mul6enng)?
a. 2 §&HISHmesor b. sy C. gQmj&esor d. 2 Ay ACHELD
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163. The Toll free number for Ayushman Bharat Free Insurance Scheme is

SLWEVLDITEST LTS 6161 W(GhG SMUSL(H HLLSHMSMer Qeveus 2 Gl 616tor?

a. 14545 b. 14455 c. 15544 d. 14555

164. The proportion of Central grant to manage the State Disaster is increased to the tune of

165.

166.

167.

wrhev GCuilLeng HTQASTATEUHDHSTE GHHW HTH6T HHUNLID LRIG sTeueuene] F&HNKGHLD
2 WIS SLILIL (HeTengy)?

a. 60% to 80% b. 65% to 85% c. 70% to 90% d. 75% to 90%

The portal Budget Dashboard is related to

a. Display the budget expenditure of Ministry of Health and Family welfare
b. Display the budget expenditure of Ministry of Tourism

c. Display the budget expenditure of Railway Ministry

d. Display the budget expenditure of Environment ministry

“Budget Dashboard” 6166Tm Q6n6miuIGend TSIl 63T QGHTLJLEDL ULIG)?

a. WS &STHTID (D) GELU L HMDEFFSESHH6HT UL QKL (L) Qaevalshigener Q&g
Qamerer

b. ammieor gempulsir LLQAGL (1) QFvaNamgamer QHfhg Gsmeten

C. JuNebGeu FemmuNeT LL QKL () QFeveilammasnet QG HHE Qsmeren

d. &mm &LpeL Femmuleir LLQAGL (1) Qswalamigamer QAsfhg Qsmerear

Arrange the Countries in descending order as per the numbers of Medals they got in 18"
Asian Games

I. Japan I1. South Korea I11. China IV. Uzbekistan

V. Indonesia

18-6ug g ellememun (B CUMTLIquNed LISSHSMIS6T SilqLiLenLuNed BIT(H&Hsnen euflengLliL(hsgls?
l. gliumesr Il. Qgesr Qamilwr 1. Feorm V. 2 ervQuélervgmedt
V. @nCsrGeraim

a. I, 1, V, 11, IV b. 1L 1L 1V, IV c. L L 1LV, IV d. HL v, L LV
The first and second position occupied by which States/UT’s in National Clean School
Award-2018?
a. Kerala and Pondicherry b. Kerala and Tamil Nadu
c¢. Tamil Nadu and Pondicherry d. Pondicherry and Tamil Nadu

Ceé&lw gmienn uetefger eNmg — 201860 (L (D) QUL Teug QL SHms QUOHM LOTHELRISET
WIT6EDI6U?

a. Gayenm, umewog&GCaif) b. Cagenm, LODBTEH

C. spBIT(H, umeig &GCarf d. umeng&Ceifl, SLODBTE
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168. Who is the recipient of Dr.B.C. Roy Best National Medical Practitioner Award 2018?
a. R.K. Mishra b. S.R. Mishra c. J.S. Mishra d. B.K. Mishra

Dr.B.C.pmi Cs&w wmsgieu apeng 2018-60 Qubmeur wimy?
a. 97.Cs.Lheiopm b. eterv.guybeiopm €. Cm.eterv.Beignm  d. 10.C&.Meonm

169. The poet who was invited to record his poems at the library of congress in USA belongs to
which State
a. Assam b. New Delhi c. Kerala d. Bihar

AR EsTaN6T CHAW BISESHHO Hailleng ANTHRCHDOMIUFNHTES DL aN(HSHSUIUL (heTen
“GC&. U 61T @hHW SHEh] 61HS LMHEVSHENS FMiJhHS6N]T?

a. SIer6rLD b. QLeLed c. Gayemm d. Ssmy
170. The Airport which received National Tourism Award -2017 for best airport in India is
I. Delhi I1. Ahemedabad I11. Indore IV. Mumbai

GCe&w ammieor eNwg — 2017 Qeir Sp Hmbs eNwre HaneowiSHHSTsT N(Heng GQUMHMI6TET
eMILOmenT [HlemevuId?

l. QLeLES Il. sisLHTUTS 1. @mbaiy IV. (Wpenu
a. I, Il only b. I, IV only c. I, T only d. I, 1V only

171. N The National Tourism Award 2017, for best cultural city is awarded to which of the following
f.I%Tahabad I1. Mandu I11. Ahmedabad IV. Mysore

GCe&w ammieor e 2017 @6t S1p HmnHs uTHOURW BEISHMHETT (Heng QUDMIETET

BH&JLD?

l. sievsmuTs Il. wmegor® . siswsHTUTE V. eowgy

a. I, Il only b. I, I only c. I, IV only d. 1, IV only
172. The Nobel Prize for literature is declared every year by which Country

a. Norway Academy b. Sweden Academy

c. Norway and Swedish Academy d. None of the above

QeusHwGHDSMes CHTUEL LflE S&L 61h% BTH eU@GBLT QUbLLD eUPHRIGHMS?

a. pIIGey SSTALLA b. &elLer S1&TALLO
C. BMGe () FHONL 6T HHTCIL LD d. CmaeL sTeneuwLhlsLEm6L
173. Who is the recipient of the award champions of the earth-2018?
a. Sheik hasina b. Narendra Modi c. Donald Trump d. Hillary clinton

gmbweirery g & 6176 N — 2018 smwr Qubmeury wimy?
a. Cegd am&leorm b, BCIHST Comg €. QmemeLL gL d. &enmifl &efMevorLeor
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175.

176.

177.

178.
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Which Indian Navy Fleet was fully operated by women Naval team
a. INS Nirbhaya b. INS Tarini c. INS Kraknath d. INS Mohini

WP(PeuGID CUsTIISHEMTL QUISSILLL QS SLILIED

a. INS Bguwim b. INS gmiflesn c. INS s5smprs d. INS Gur&ef

In which weight category does the Indian Boxer Amit Bangal got Gold medal in Asian
Games

AW allemenum(p GH&IF Fauenl. GUTLIquNEL “SIhlg LIMISTeL” 6TsoTLeN] 6THE HGeom LifleaNed
SHRIGLD GleuesTO?

a. 47 kg b. 46 kg c. 49 kg d. 48 kg
Identify the wrongly matched pair:

a. Indira Sivasailam Award - Jeyanthi kumaresh

b. Russia order of friendship award - Viswanathan Anand

c. America’s paul young scientist award - S.M. Balaji

d. Rajya basheya keerthi award - Punjab national bank

QUTBHSTH EOETTENII &6ToILMH1&?

a. @bsrr Heausmseod (b - QgWnhsH GLLGrep

b. peigwm pLUDe| eNwGBS - QNleVEUBTEET SY6MhS

C. SIQWH&&ET ured Qerd N NGBS - 676N, 6TLD. LIM6LITED)

d. prgurs eer 758 aNms) - LUEh&M CHeLsieL 6umI&
Identify the wrongly matched pair:
Bank CEO/MD

a. United Bank of India - Ashok kumar pradhan

b. Dena Bank - A.S. Rajeev

c. Andhra Bank - Pakkiri samy

d. Indian Bank - Badmaja Chandru

SHeUMITE Qen6TTEnUL &H6voIL_D1&?

QURIES6I CEO/MD

a. United Bank of India - 9CaME GLomy LNy&medt

b. Dena Bank - ¢J.6Terv.yreded

c. Andhra Bank - us&M gmh

d. Indian Bank - USHLOYT EHSI[H
Who was recently appointed as Director General of Border security force

a. K.K. Sharma b. D.K. Patak

c. Rajnikanth Mishra d. Subash Jothi

6T606MEL LIMGIHMLIL| LemL uTesT QuUISGBJ Qg6tTyeond HIIOGSLILLL 6 WImy?

a. C&.Ca.&yLMm b. 4.Cs.0188

C. pRef &MHS LBerorm d. sumep Cmrd
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The 19" Asian Games 2022, is going to be held at
a. Hangzhou b. Shanghai c¢. Kathmandu d. Tokyo
2022-1b syemoi(y 19-eug S eflememun (B GuUTLlg BenL QUmeysTer @L D2
a. eammmGam b. egmmgm C. &MGHLO6TUIL d. GLm&HCWT
Identify the wrongly matched pair:
a. SAIL chairman - Ajaykumar choudary
b. Indian newspaper society President - Jayant mammen Mathew
c. Ambassdor for tribal people - Mary Kom
d. The chairman of standing committee of defense - Kalraj Mishra

SHUMTEST @\6nGTITENILI &H6vo1L_N&?

a. SAIL gemeveuiy - QIR GOy Feygmi
b. @b QFLSSTET FRIGD &EMEVEU]T - Qguhg OGO LOMGUY 6
C. ULDRIGIQUNES LD&HSH6N GGl6l] - GyGsmb

d. @rraneusHMHSETeT LTITEHLO6TD Hemev G(peetT emeveuy - &eormey LT

Identify the correctly matched pair:

I. World Contraception Day - September 28"

1. World Rabies Day - September 26

I11. World Tourism Day - September 27"

IV. World Heart Day - September 29"

gflwimest @em6uoTemILl &630TLM&?

l. 2608 &MHHHOL Hleurd - Qelibuiy 28

Il. 2608 Grilerv Hleorld - Q&L buy 26

I1l. 2608 ammieor Heod - Q&uLLbuy 27

IV. 2.0 Q@sw Herd - Q&L Lbuiy 29

a. I, lll only b. I, IV only c. I, Il only d. I, IV only
Identify the wrongly matched pair:

a. Indian Ambassador to kyrgyzstan - Alok Amitabh dimri

b. Indian Ambassador to Guatemala Republic - Mohamed sha

c. Indian Ambassador to China - Vikram mishri

d. Director general of SSB - S.S. Deswal

SHUMTEST @\6NIGTUTENILI &6voTL_ (N &?

a. &&ervgmedr BHILlgm&mer QhEI HIglel] - SiCeurré SIAFMI Slibifl

b. QsengLomeom GQWITANHSTRT QHEUI ST - (WP5LDG| e

C. Feomalm&menr QhHUI SHGle] - asrw e

d. SSB usnLliNfleNesr LW semeveu - 61610.6T61. G & 6rV6UIT6L
Who was appointed as CEO of Syndicate Bank?

a. S.S. Malligarjun b. Atul kumar Goel

c. Mrutyunjay Mahapatra d. Ashok kumar Pradhan
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“Bl6ig CoHL" sumEUNGT Henevenlnd QFwed HfHasmiluirg HuIlssUUL (HeTereu?

a. 6T6M.6T610.LDELEOISITITETD60T b. sigleb Gy Camued

C. OmAHW6TEFM LOSTUSITT d. oiGens GLomy LNygmest
184. Identify the wrongly matched pair:

a. World no cancer day - September 22"

b. World Ocean Day - September 26"

c. World Heart Day - September 29"

d. International Translation Day - September 30"

SHeUMITeT Qen6TuTenUl &6uorLH1&?

a. Caetigl] QeL6VME 2 608 Hleold - QelLLbuf 22

b. 2608 BL6LEM] &ewrld - QUL buy 26

C. 2605 QHSW Hl6d - Qalibuiy 29

d. §JeuCss QM QuUIFLILY &6orLd - Q&uLuy 30
185. The range of Air to Air Missile Astra is

aUmefed(BH& UTES 6TELEMEVENI FHTEH&HFalqlUl JYaVHTT 6J6SHeneuuTuesr Slmeor?

a. 90-100 km b. 80-120 km c. 70-115 km d. 80-110 km
186. Which satellite of NASA located the planets super earth and hot earth recently
a. Discover b. Cassini c. TESS d. E.P.Toms

Super Earth & Hot Earth etéttm Camengsmnen s Mihg NASA-allstt Qgwmens Camem QuIf?

a. lgevsealy b. sréen c. QLerv d. E.P.Lmberv
187. The new launch pad for ISRO’s New Scheme Ganganyan to be located at
a. Odhisha b. Kerala c. Andhra Pradesh  d. Tamil Nadu

AeroCrmaNer &&6mLmesT HLLHHMSHME LS 6§D HMLDSSHLILIL 66iTern LOMBlevLd?

a. eiflam b. Gapyenm C. SyhdHym d. spBrE
188. Which Country launched MINERVA-II 1 probe to asteroid ryugu

a. China b. USA c. Russia d. Japan

TG enausseney gprmu “MINERVA-IIL” Gymeujemw Signitiul »r(h?

a. &eorm b. siQuf&asm C. yeQuim d. suumedr
189. Identify the wrongly matched pair:

a. International Day of sign language - September 23"

b. World Alzheimer’s Day . September 22"

c. World Peace Day - September 21%

d. Rhino Day of Assam State - September 22"
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FHUMTEST @6OGTUTENILI &H6voTL(N&?

a. §JICsHs mams QM e - QUL buy 23
b. 2608 g eLMELDT Heurld - QUL Lbuy 22
C. 2605 IIEMLDG Hl6oILD - QeuLLbuf 21
d. sierveromb wmHevsdHett eyGeorm levrid - QUL buy 22
190. Identify the correctly matched pair:
a. Super earth - LHS 3844 b
b. Vorombe titan - World Largest Bird
c. Hot Earth - Pi Mensae C
d. Dikinsonia animal fossil is locates at - USA

gfliiment @en6u0Tenl! &6voTL(N&?

a. Super Earth - ‘LHS 3844 v’
b. Vorombe titan - 2 e&l6tT OBLQUIAIW LMene
c. Hot Earth - ‘Pi Mensae C’
d. 4&&er Camemum aNlev@ Uiglold el §F QL LD- SQLHEST
191. The cyclotron, cyclone-30 a variable energy cyclotron center become operational at
a. Hyderabad b. Lucknow c. Kolkata d. Delhi

Cyclone-30 Cyclotron s @LsHe0 semmgisten Variable Energy Cyclotron Centre-6@
QFWILUMLIq60 6UhGI6Ten)?
a. emam&TUNs b. ev&Georm C. &HL&HHHT d. QLeved

192. When did the NASA launched Mar’s rover curiosity

Q&cueuml Hrssams pile] Q&I Huflwrdiiy Crmeuj eNemseod NASA-6umed 61hS et (h
gaULILILL §|?

a. 26" December 2011 b. 25" November 2011
c. 26" November 2011 d. 25" December 2011
193. India’s first electric drive rear dump truck

AnswimeNest (LpHeL LhleTEFMIHHL QUIRIGLD FJHEG 6UTHEID 6182

a. VC 11184 b. BH250-E c. Eyerov TUNA d. ICESAT-2
194, Which country launched the space craft Hayabusa-2, to study the asteroids
a. China b. Japan c. Russia d. Canada

Giflwenent &OHM b [T CHTETHmeT gyl QFUIL “QMMLTLervT-2” QFWMenSHCEHTemern
St Br(?
a. &eorm b. sliumesr C. JeQuim d. serLm
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195. The name of Rail engine that is operation through hydrogen fuel
2 AT (NGHEL MEUDL TR6IT YMMEOI6ITeL 2 (HeUTSHEI Qruied eu6cvorguilesr GQLIf?
a. Old Patagonia b. Coradia iLint c. EyeRov TUNA  d. The Ghan

196. When did the atomic plant Apsara ‘U’ was established

‘gIiggm U 9igm) 2 6m60 (LPGH6ST (DNGH6OIeL Himieurii L oy,6001(h?

a. 1954 b. 1953 c. 1952 d. 1956
197. The first tourist to moon, yusaku maezawa belongs to which Country
a. China b. USA c. Japan d. Russia

HevalMH@ (W& (PmDIWITS &OHMIOTONNE CFLM GG “WETE GLOFTOIT 6T65TM
Cameerveuniy 61h& BHIL DL FTiIHS6UJ?

a. &eorm b. siQuf&sm C. sUIumedT d. geewim
198. Identify the wrongly matched pair:

a. Assam State sports ambassador - Mary Kom

b. Winner of Italian Grand prix car rally - Lewis hamihon

c. US open 2018, title winner - Novak Djokovic

d. World junior wresthing champion 2018 Sajan bhanwal

QUITBHSTSH Sen6uTTeMI &6oTLN&?

a. sleveromd MHlew eNemenum (B HIgleu] - GflGsmb
b. @ssmedwesr &ymesor NflGero HM CUTL Ig - Gevellerv ammhleLL 63T
C. SIQwf&s epuett gyl euy 2018 LlLLd Qummeur - Gomeurs CurCasTals
d. 2608 goeflwuy weOwGHW 2018 L L b QumHme] - GITE6DT LI6tTEUT6L
199. Identify the correctly matched pair:
Book Author
I. The rule Breakers - Preethi Shenoy
I1. Kashi: Secret of the blank temple - Atal Bihari Vajpayee
I11. Exam warrior - Narendra Modi

IV. Moving on, moving forward a year in office Sajan bhanwal

gflwiment @en6uoTenl! &6voTL N &?

L$SeLD LRI

I. The Rule Breakers . Nf&&H Cagermil

Il. Kashi: Secret of the Black Temple - SIL6L &Ml eumgumiil
. ufLem&sdHE LwWGLD6oT - BCIHEAT Gomg

IV. Moving on, Moving Forward a year in office - Qeumiemaswim B
a.l,ltandIVonly Db. I, Illand IVonly c. I, ll1and IV only d. All the above

www.tnpscjob.com
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a
b
c
d

1
a
b
c
d
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The medal tally of India in 18™ Asian Games?
. Gold-15, Silver-25, Bronze-29
. Gold-15, Silver-24, Bronze-30
. Gold-15, Silver-24, Bronze-29
. Gold-16, Silver-24, Bronze-30

8-6ugl &l CuMLiquled QBHWIT QUMM LSHESMISET6I 61650165078 60)8?
. smisd 15, Qeusafl 25, Qeusmseod 29
. RIS 15, Qeuetef 24, Qeustorseod 30
. SRS 14, Qeuetef 25, Qeustoseod 29
. mIsLd 16, Qeusafl 24, Qeusmseod 30

www.tnpscjob.com
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GROUP 1 - TEST 2 (KEYS)

1. D 21. D 41. D 61. C 81. C
2. C 22. B 42. D 62. D 82. C
3. C 23. C 43. D 63. B 83. C
4. D 24, C 44, D 64. C 84. C
S. C 25. C 45. D 65. A 85. B
6. D 26. D 46. C 66. C 86. B
7. B 27. B 47. D 67. A 87. D
8. B 28. B 48. C 68. A 88. B
9. D 29. C 49. B 69. D 89. B
10. C 30. B 50. C 70. D 90. C
11. D 31. B 51. A 71. B 91. A
12. D 32. B 52. D 72. B 92. D
13. B 33. D 53. B 73. C 93. D
14. D 34. C 54. B 74. D 94, B
15. D 35. C 55. C 75. C 95. C
16. D 36. C 56. B 76. B 96. A
17. B 37. B 57. C 77. A 97. D
18. B 38. D 58. C 78. C 98. B
19. D 39. C 59. A 79. C 99. B
20. D 40. C 60. B 80. B 100, C
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101, B 121, D 141, D 161. C 181. D
102 C 122, B 142, C 162. D 182. B
103, A 123, C 143.] A 163. D 183. C
104, B 124, D 144, B 164. D 184. B
105, A 125, D 145, C 165. A 185. D
106., A 126., C 146., A 166. C 186. C
107, A 127., A 147, C 167. D 187. C
108., A 128, D 148., C 168. D 188. D
109., A 129., A 149., D 169. D 189. B
110, B 130., C 150., D 170. C 190. B
111 B 131, D 151, D 171. B 191. C
112, A 132, A 152.| B 172. B 192. C
113, A 133, D 153.| B 173. B 193. B
114, C 134, A 154, B 174. B 194. B
115, A 135.| B 155, C 175. C 195. B
116.f C 136., B 156., D 176. C 196. D
117 C 137., A 157., B 177. B 197. C
118. C 138.| B 158., D 178. C 198. A
119., A 139.| A 159., D 179. A 199. B
120., B 140.| C 160., B 180. A 200. B
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